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1. Write out the electym Conﬁ(;«m-t.‘m ﬁrﬁe fp//owin(} .s'}wc;‘es :

) 37Y”+ bl @ ;,,7&2’ (67)

2\ Explain w"\at the chemical bond on 0 Liy molecule £8 weaker than that jn
& Ha molectle. (67) '

3. Eff/ain whd K& is move 5'u1;/£ect +0 fcéoz‘tko‘/ dcfect; Yhan +o
Frenke/ defects YY)

4 Predict the molecular Jeometry for @) Sncle (s050) B)Tecls (o)
ond g.‘ve oy Wnaﬁmx (&%)

5, Wyite the Chemical fm/wc/a j};r.eac/t g‘ the fo//oun‘woi compounds :

&) hypochlorous acid & potassive hexacyanoferte (T)

) fervoceme d) sodium b.‘s(t/;:osulfato)argmtate(I) %)
b For G and Gs By, which one is move soluble in water? w‘hJ7 “7%)
7. AlFs is almst insoluble in amhydrous HF bat it dissslves )?ad;’y—

Whon NoF is added.  Explain A1/ &%)
8. Explaim whyf adding ammonivm dcetate to Zn(WHh)z (5) < Ms(0)

Causes the sulid to diseolve. %)

9, Ul;hg the simple szsm/ field #lrearo‘l , Mp/ain wAG'/ [N (euy]* ™ is
clp‘amai'ne-ﬁc while UV,.‘C&]v»tlc faYamaj'neé;c. (;;‘M/;) (K%)
10, Discuss zhe TH-VMR spectva for @) gﬂ*y;@

&) =+ ($%)

- Compare the stretching freguency of the Co bond for the following

4""&1/(’4)/}70’)1%5 and e %P/ﬂmd'ﬁm}':
[Mun CCo) T, [?Cr(w),s] , LVceeo)T (£ )

2. Write the 'n\ailor /;roducf farear/é j‘ Hhe ﬁ//m«n‘y Yeaction
) Ha SDq. + 2 Mn(C0)5 ——>

by CeH), N + CoFa ——

(9% )

(©) ((ng)Mo(CO)sH +NO —> e
(ERTR) |

099
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|3, G ive D detecting methods i Lommm Use j%'%eﬁ,‘iﬁ /ur]lorpnm ce
,ﬁ,-%:d chrmto;v’qﬂ/m?bc) . BR)

14 Givetwp acids fmwntg used as . primary standard Sfor
NaON solutims.  £%)

|5 Describe the sepavation method fareach #%ef»//m‘y Mixtwnes ;
(@) Phchs ¢s) and Hea (02.(s)

(b) HeS () amd (yS e

(124)
(CIMeS ¢s) and 2. S ¢5)




